S[EFRRHMRE 5255 1989

AUTUMN-SUMMER GFA DIF.( 0/150 BAR)
120E 1S50E 180 1S0W 120W 90NW

60N

30N

120E  ISDE . 180 150W  120M 90M
CONTOUR INTERVAL = D.02(10 Mxx2/Sxx2)

2.4.17 GPA OEOKFESH kF—EFE) (BH)

AUTUMN-SUMMER GPA DIF.(C 2/150 BAR)
1 20E 1S0E 180 150K 120W 90W

60N

30N

CONTOUR INTERVAL = 0.02(10 Mxx2/Sx%x2)

2.4.18 GPA DEDKFED KFE—EF) (20m)

— 213 —



KEWEFBMGE $255 1989

AUTUMN-SUMMER GFA DIF.( 57150 BAR)
120E ISOE 180 1SOW 120K 90W

90W
CONTOUR INTERVAL = 0.02(10 Mxx2/Sx%x%2)

2.4.19 GPA DEDKFHH (K —EE) (50m)

AUTUMN-SUMMER GPA DIF.( 7/150 BAR)
120E 150E 180 1SOW 120W 90W

60N

30N

4305

603

180 150  120W  9OH
CONTOUR INTERVAL = 0.02(10 Mxx2/Sxx2)

2.4.20 GPA DEDKFEHA (FkFE—EZE) (T5m)

— 214 —



KEBEEATRE  $25% 1989

AUTUMN-SUMMER GFA DIF.(C 10/150 BAR)
J 180 i

120t 1S0E 180 ISONW 120W 90nW
CONTOUR INTERVAL = 0.02010 Mxx2/Sx%x%2)

K 2.4.21 GPA DEDOKESH (KFE—EZF) (100m)

AUTUMN-SUMMER GPA DIF.( 157150 BAR)
1 20E -150E 180 1SOW 120W 90W

1 20MW 90M
CONTAUR INTERVAL = 0.02(10 Mxx2/Sxx2)

2.4.22 GPA DEDKENSH (kFE—EZF) (150m)

— 215 —



REMATHMIRE  H255 1989

AUTUMN-SUMMER GPA DIF.( 20/150 BAR)
20 § 180 2

60N T ] 60N

30N F30N
Eu
30S ¢ G @O x| =) KR
605 %) “ct ) = < . / 60S
ISOE 18 S0M
CONTOUR INTERVAL = 0.02(10 Mx%x2/Sxx2)
[ 2.4.23 GPA DEDOKEGA (FkFE—EF) (200m)
AUTUMN-SUMMER GPA DIF.( 30/150 BAR)
120E  .150E 180 150W 120K 900
60N 60N
30N 30N
EQ EQ
305§ 305
505 605

T120E IS0E 180 1SOW | 120M 90K
CONTOUR INTERVAL = 0.02(10 Mxx2/Sxx2)

X 2.4.24 GPA DEDOKFEFA (kFE—FZF) (300m)

— 216 —





